

NÁSOBENÍ A DĚLENÍ CELÝCH ČÍSEL

A

$2 \cdot (-3)$	=	$10 : (-5)$	=
$(-3) \cdot 1$	=	$(-10) : 2$	=
$(-6) \cdot 2$	=	$(-12) : 4$	=
$0 \cdot (-4)$	=	$15 : (-3)$	=
$(-2) \cdot (-5)$	=	$(-12) : (-2)$	=
$5 \cdot (-15)$	=	$(-28) : 2$	=
$(-32) \cdot 2$	=	$26 : (-2)$	=
$(-16) \cdot 3$	=	$(-60) : (-5)$	=
$(-21) \cdot (-4)$	=	$(-75) : 5$	=
$(+60) \cdot (+2)$	=	$84 : (-3)$	=
$(-1) \cdot 82$	=	$(-300) : (-10)$	=
$(-11) \cdot (-8)$	=	$360 : (-1\ 000)$	=
$(-5) \cdot 2 \cdot 6$	=	$(-56) : 2 : (-4)$	=
$(-2) \cdot (-4) \cdot 3$	=	$240 : (-1) : (-10)$	=
$3 \cdot (-1) \cdot 8$	=	$(-100) : 20 : (-1)$	=
$(-5) \cdot (-6) \cdot 3 \cdot (-10)$	=	$(-4) \cdot (-5) \cdot 2 : (-10)$	=
$-6 \cdot 59 \cdot (-9) \cdot 0 \cdot (-8)$	=	$0 : (-3) + 55 : (-5)$	=
$2 \cdot (-15) + 3 \cdot 25$	=	$4 \cdot (-2) : [(-4) : (-1)]$	=
$(5 - 8) \cdot (-2) \cdot 4$	=	$(-43 + 13) : (-5)$	=
$7 \cdot (-4) - (-11) \cdot 2$	=	$(-100) : 2 + 32 : (-4)$	=

$$x \cdot 10 = -30$$

$$(-3) \cdot x = 24$$

$$x \cdot (-6) = 42$$

$$9 \cdot x = -72$$

$$x \cdot (-1) = 21$$

$$x : 5 = 0$$

$$(-12) : x = -4$$

$$x : (-9) = +3$$

$$33 : x = -11$$

$$x : 10 = -6$$

NÁSOBENÍ A DĚLENÍ CELÝCH ČÍSEL

B

$3 \cdot (-2)$	=	$10 : (-2)$	=
$(-4) \cdot 1$	=	$(-10) : (-5)$	=
$(-7) \cdot 2$	=	$(-12) : 3$	=
$0 \cdot (-5)$	=	$(-15) : 5$	=
$(-3) \cdot (-5)$	=	$12 : (-6)$	=
$6 \cdot (-15)$	=	$(-26) : 2$	=
$(-21) \cdot 3$	=	$26 : (-2)$	=
$(-17) \cdot 2$	=	$24 : (-2)$	=
$(-21) \cdot (-5)$	=	$(-60) : (-4)$	=
$(+60) \cdot (+3)$	=	$(-95) : 5$	=
$(-1) \cdot 18$	=	$72 : (-3)$	=
$(-7) \cdot (-11)$	=	$240 : (-1\ 000)$	=
$(-6) \cdot (-5) \cdot 2$	=	$100 : (-5) : (-1)$	=
$(-3) \cdot (-2) \cdot 5$	=	$(-56) : (-2) : (-7)$	=
$2 \cdot (-1) \cdot 7$	=	$360 : 10 : (-1)$	=
$(-4) \cdot (-5) \cdot 2 \cdot (-10)$	=	$(-5) \cdot (-6) \cdot 2 : (-10)$	=
$-7 \cdot 41 \cdot 12 \cdot 0 \cdot (-7)$	=	$0 : (-5) + 66 : (-11)$	=
$2 \cdot (-25) + 3 \cdot (-15)$	=	$3 \cdot (-2) : [(-3) : (-1)]$	=
$(6 - 9) \cdot 3 \cdot (-2)$	=	$(-33 + 3) : (-6)$	=
$(-7) \cdot 5 - (-12) \cdot 3$	=	$100 : (-5) + (24 : 3)$	=

$$x \cdot (-5) = -20$$

$$(-4) \cdot x = -44$$

$$x \cdot 10 = -20$$

$$5 \cdot x = -30$$

$$x \cdot (-1) = -13$$

$$x : 10 = -30$$

$$(-24) : x = +6$$

$$x : (-8) = -2$$

$$44 : (-x) = -4$$

$$x : 2 = 0$$